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IInd Year Arts (Regular) Examination, 2016
HISTORY
Paper - [
(History of India from 1707-1884 A.D.)

Time : Three Hours
Maximum Marks : 100

PART-A [Marks : 20]
(GUe-37)
Answer all questions (50 words each).
All questions carry equal marks.

o+t w9 sifer B TeE W # IW S0 vl @
sfyw 9 B Bft v B ot Tum &

PART-B [Marks : 50]
(@ves-9)
Answer five questions (250 words each). Select one question
from each unit. All questions carry equal marks.

TOIF THE W UH-UH W T g, [ U ¥ FRm
TEF U W IW 250 VRl § I A B
ol Y % o gum #)
PART-C [Marks : 30]
(@2-9)
Answer any two questions (300 words each).
All questions carry equal marks.
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PART-A

(TUs-AH)

1. UNIT-I

FFE-1)

(i)  What were the reasons of success of Britishers in

India ?
gRd B HUS #] gFod B @ BRI 42

(i) How Aliwardi Khan became independent Nawab of
Bengal ?

et T W WA F EEI TEE hY F

UNIT-11

(3TE-11)

(ii) What was the main difference between the Policy
of Tipu and Haider Ali ?

I ot IR Iy W A F g R W aw

(iv) What was the instantaneous reason of Second
Sikh War ?

T @ gz 1 doefas FRO RN a1
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UNIT-III

-1
(v)  What benefit did India received from Macalley's
Education System ?

T F foan vef @ W W oFoam gem

(vi) "Capitalists are the contribution of British Rule".

Explain.
“aa A Poie = fafew oy #2321
TUEEu|

UNIT-1IV

(FFTE-1IV)

(vit) Give reasons of renaissance of 10th century.

108 TAeEl F OGASRYT B FHROT T

(vii) How Ryotwari system helped in development of
Middle Class ?

A v A mem o ® faem § 9 wsam
fean?

UNIT-V

(FFE-V)
(ix) What was the main reason of 'Santhal Revolt' in

Bengal.
T H ‘WU fasw’ w1 ovgE R s oo
2401-R/15,570/555/83 3 [PTO.



(x)  What efforts were made by Raja Ramn Mohan Rai

for Female education ?

T TH WET T 3 = fren w R o= owe
fea?

PART-B
(gus-9)

UNIT-I

FFTE-1)

What were the reasons for initial success of Portugees ?

wmfadl w1 WAHE TEA@ & F FRI 92

Wha was the Doctrine of Lapse ? What 1s it's importance

in the imperialist policy of lord Dalhousie ?
T F A oF o o ToER ¥ aEear Aifg
® i ¥ owmE w WEe 8

UNIT-II
FFE-11)

Describe Political and Economic results of Battle of Plassey.

% g F YaE wd i uftomm sawd

Evaluate the role of Nana Fadnavis in Maratha Politics.
TSl T H AM FEAA™ ®I AT HT YEHIERA
Edised
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UNIT-III

(FFE-111)

6. What was the main consequence of British control over

Rajput states ?

TogE T R fafew sifuas =1 g uftems = gen?

7.  Which conflict originated in connection to marriage of

Krishna Kumari ? How was this conflict resolved ?
Fo FHEE F faEw 1 o FA-T fFAar 9= g
T oo & 9HwE 8 gem?

UNIT-1V
(FF1E-IV)

8. What was Iibert Bill 2 Which Governor-General's name 1s

related with this Bill ?
Toad o = oa? 3@ fag = g g m@R-I=A

w1 AH wET g 27

9. How Ryotwan System influenced Administration ?

TdarEl S=EE 9 Wi #1 FE ywr wwfaa fEAr
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UNIT-V

(FFTE-V)

10. Describe main rules of Arya Samaj.

4 9N ® geg fAad % 9uH @ifm

11. What was Enfield Rifle ?
TAHIes TI6H I97 off?

PART-C
(@s-|/)

UNIT-I

(FFTE-T)
12. Describe the Social and Cultural condition of Middle India
during 18th century.

1887 ¥ ® W wRd w GRS Ud WiEpE qmm
F1 FUE i)

UNIT-1I

-1
13. "The battle of Buxar completed the work of battle of

Plassey". Evaluate this statement in detail.
YAIRR F 4 A @R & epR w1 @ w fan
™ FY 1 famga = s
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UNIT-II1
(T

14. Explain the meaning of 'Drain of Wealth'. What was the
nature of Drain of Wealth in British Rule ?

v w frsmm w1 o gumea ffew oA |
v % A s ogefa w|&no oo

UNIT-1V
FEE-IV)

15. Discuss the condition of women in Indian Society till mid
19th century.

195 TR ® W 9% 9REE A A T w feyfd
F faa= wifsg

UNIT-V
(FTFE-V)

16. Why did the Outbreak of 1857 not succeed ? What were
its consequences ?

1857 +1 fao@m = 9w & g? e F Uiy
gq?
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